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P-value isused to: —#)
Approve the null hypothesis. (|
Disprove the null hypothesis. (<
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When deciding to write a review, what is the first word that you need to ask yourself? _sA
Why? (!
How? (o
When? (¢
Where? (o
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Use plain language. (!
Stay within the word limit. (o
Know your audience. (z
Adhere to the universal book review format. (s
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When submitting a case report as a letter to a journal, which part is not necessary to be included —VYY

in the manuscript?
Brief introduction (!

Description of the case (o
Discussion of its interest  (z
Summary of the case at theend (o
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When submitting a concise report as a letter, when presenting conclusions, all of the following V¥

points should be included, except:
Emphasize only one or a few conclusions. (!

Refrain from mentioning previous studies in the literature. (o
Highlight caveats and strengths of the study. (z
Suggest further studies that are still required in the field. (s

When preparing a letter to a journal in response to a previously published article, one needs to — VYo

follow all of the following items, except:
Be courteous and interested. (.l

Repeat the aspects already covered in the original article. (o
Try to make only one or a very few specific points. (z
Give reasoned argument, not biased opinion. (s

The usual purpose of submitting a “letter” to a journal includes all of the following, except: — V¢
To comment in response to a previous publication. (!
To provide a concise communication of clinical or investigative data. (o
General medical or political comment. (z
To communicate a case report. (s
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What is one of the major differences between systematic and non-systematic reviews? _ A
The organizing body undertaking the research. (!
The number of authors involved. (o
Methods used to identify the literature. (z
The time interval for data gathering. (s

Which one is not correct about the “tables”? _ AY
Do not repeat data in more than one table or figure. (!
Provide units of measurement in the tables. (<
Write ‘P=NS’ for P-values>0.05. (¢
Make the tables visually easy to read. (s

Which one is not correct about “Figures”? _ AA
Figures should be numbered in the order that they appear in the text. (.l
Figure should have a legend to describe the data and all annotations. (o
Figures should stand alone; the reader should not need to refer to text for definitions. (z
Permission to reproduce a figure is not necessary if the source is stated Clearly. (s

What is the most serious effect of “loss to follow up” in clinical trials? A4
It shows no effective management of researchers. (.l
It increases the risk of bias. (o
It affects the blindness. (z
It reduces the randomization concealment. (s

In a randomized clinical trial to test two oral medications, which group should be blinded? _1.
Patients (.l
Physicians (o
Outcome assessors  (z
All of the above options (s

What is the purpose of randomization? _4a\
To have similar number of patients in each group. (!
To have even number of groups with respects to study arms. (o
To treat patients similarly with respect to dose of drugs. (¢
To have groups with similar prognosis with respect to target outcome. (o

Which item cannot help to reduce the risk of bias in “therapy” studies? —_AaY
Randomization (.l
Matching (o
Blindness (¢
Ensuring complete follow up (s

\Y
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Which one is in a higher position in the hierarchy of evidence? _AaY
Observational studies (!
Randomized trials (o
Prognostic studies (¢
Case studies (o

Which one is not a type of an observational study? _Aa¥f
Cohort (!
Non-RCT (Randomized controlled trials) (<
Case-control  (z
Cross-sectional (s

Which one is a standard format for framing the research question of interventional studies? —44
PICO (o RCT (z EBM (& FINER (!

Which guideline is used to rate the quality of evidence derived from randomized trials? —4¢
CONSORT (!
GRADE (&
MOOSE (¢
PRISMA (s

Which one is not a part of a “Discussion”? _AaVY
Statement of principal finding(s) (!
Appraisal of methods (o
Comparison with previous work (z
Figures to highlight the findings (s

Which one is correct? —A4A
Mean is used for data with normal distribution. (!
Median is used for data with normal distribution. (o
Mean is used for both normal and non-normal distribution. (z
Median is used for both normal and non-normal distribution. (s

“Before, After” study is a: —44
Between groups study (!
Among groups study (o
Within group study (z
Subgroup study (s

VY
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The possibility of a false negative result is called: —_ Y+«
o error (&
B error (o
Confidence interval (z
Power (s

Which one is not a guideline to be used during the writing of the “Method” section? _+\
STROBE (!
CONSORT (&
EQUATOR (¢
ARRIVE (s

Research question of your study must be mentioned in: —\+¥
Introduction (.l
Method (o
Results (¢
Discussion (s

“Why you have undertaken the study”? is the main job of: —\.Y¥
Discussion (s Results (z Method (< Introduction (!

Which one is correct? —\+¥
IMRAD is the standard format for all medical articles. (!
Medical journals always ask authors to follow IMRAD format. (o
IMRAD is the standard format of writing in different scientific disciplines. (¢
For different types of articles, IMRAD can be modified. (s

Which one is correct about writing a medical article? —Y+4
There is a standard format of writing that all medical journals must accept. (!
Before writing the article, “Instruction to Authors” of the journal to be submitted should be read. (o
Journals normally conform the style of the article in case of acceptance. (z

This is copy editors’ whole responsibility to set the article to an international format. (s

T gt «)99559 S 4 (g Wl S () @2 0 Gl 2 i § plaS = )eF

Surnames and initials of authors. Full title of paper. Title of journal. Year of publication; (!
Volume number: First and last page numbers of article.
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It is the currency of academic life. (!
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It gives an independent estimate of a researcher’s contribution to science. (z
It is the foundation of the systems for judging academic value and assigning reward. (o

Which one should be included in the abstract of a paper? —\¢
A comprehensive description of every feature of the methodology. (!
Full description of the participants of the study. (<
Summarization of the paper with the take home message of greatest importance. (z
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Which one should not be done, when writing the title and abstract of a paper? —\\A
Following the journal’s format/length requirements. (!
Writing in plain English. (&
Using jargon extensively. (z
Using terms that are likely to be used by colleagues when searching for papers. (s

Which one should be done, when writing the title and abstract of a paper? — 14
Promising things the data cannot provide. (!
Using jargon extensively. (o
Being too cute with the title. (z
Indicating how the data fill a void in the literature. (s

Which one should not be included in the abstract of a paper? —\Y-
Provide a clear indication of what the reader can expect from the paper. (!
Meander into peripheral issues. (o
Indicate why the reader should care to read further. (z

List the key methodological details required to understand both how the study addresses the (s
research question and what to expect of the results.
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W oy (908 Ob
W Part one: Reading Comprehension
Directions: Read the following passages carefully. Each passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, c, or d). Base your answers
on the information given in the passage only.

Passage 1

Medical writing is an interdisciplinary field that applies knowledge of both rhetoric and science to enhance
readers’ understanding of medical phenomena. There are many different audiences in medical writing, which
accompany its wide spectrum of subspecialties. The audience of a medical journalist, for example, is
different from the audience of a grant writer. Nevertheless, nearly all medical writers share a like-minded
value: to articulate medical information to their readers in the most effective ways possible. It is also different
from other types of professional writing because it incorporates knowledge, methods, and terminology from a
variety of fields. For instance, biostatistics, journalism, medicine, English, public health, and pharmacy are
fields that most medical writers tend to consult regularly. Medical journalism, a subspecialty of medical
writing, is important because it helps connect the scientific community with the general public. Newspapers
and magazines like the Los Angeles Times and Scientific American are well-known for publishing public-
oriented articles on science and medicine. In a nutshell, medical journalism aims to accurately represent the
research of scientists and clinicians, entertain readers by providing unique perception and insight, and plainly
articulate complex, scientific material to more public-oriented communities.

121_ According to the passage, medical writing ......... :

a) has a certain identified audience

b) fails to involve any non-medical fields

c¢) isabranch of medical journalism

d) increases the understanding of medical events

122_ The author mentions English as one of the fields medical writers consult with, because medical

journalismis ......... :
a) in English language
b) interdisciplinary
c¢) insightful for clinicians
d) popular in English-speaking countries

123~ The author mentions the Los Angeles Times and Scientific American in the passage to exemplify

journals with articles ......... :
a) intended for the public
b) limited to scientific priority
c) targeting peer reviewers
d) unrelated to public health

124_ Which of the following is NOT true about medical journalism?

a) It connects scientists to the public.

b) Itis an outlet for medical findings.

c) Itinvolves writing entertaining public stories.

d) It lets clinicians share information with the public.

125_ The expression in a nutshell means ......... :

a) initially

b) briefly

c) originally

d) comparatively
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Passage 2

Newspapers developed initially as extensions of other forms of communication, such as verbal exchanges,
and were indeed necessities to fulfil appetites for news; perhaps the only real difference emerging with the
development of newspapers and journalism as a social practice was specialization and power. From an early
period, humans have exhibited an extraordinary interest in news, and although it is difficult to scientifically
trace the history of news to its actual beginnings, we can nevertheless safely assume that one aspect of our
being, what determines human kind and separates us from the animal world, is our appetite for news of
events. One could argue that this appetite for news is an intrinsic part of our human nature, and irrespective
of the form it has taken historically or in modern times, most receptions of news require trust in authenticity.
Understanding what constitutes news appears to be more complex today with an emphasis on global
communication networks dominating lived experience. On one important level, news is intrinsically
connected to journalist productivity; on another broader level, news is everywhere. News in relation to
mainstream press and media organizations dominates social landscapes, which requires an analysis of power,
influence, and the ability to shape our understanding of the world we inhabit. In this context, news in relation
to journalistic activity is a central concern to a discourse in media ethics because the focus is on how news is
produced and for what purpose, and this is premised on the privileged position that journalists and news
organizations occupy and their ability to distribute news across time and space.

126~ According to the passage, the newspapers ......... .

a) are aspecialized form of verbal exchange

b) were developed to meet the desire for journalism

c) were developed as a social practice associated with power
d) were initially a means to satisfy the peoples’ social needs

127- According to the passage, which of the following is TRUE about news?

a) News contributes to making a distinction between the human and animal world.
b) The beginning of news is known to historians.

c) From an early period, news writing was a specialization.

d) Humans, like animals, have an appetite for learning about events via news.

128_ According to this passage, ......... has a strong effect on the way news is received.

a) journalists’ productivity
b) news authenticity

¢) global communication
d) trust in human nature

129_ The pronoun itin line 8 refersto ......... :

a) one

b) world

¢) human nature
d) appetite for news

130— The author believes that journalists and news organizations have a privileged position because

they ......... :
a) are everywhere and dominate social landscapes
b) cover ethical issues and considerations
¢) emphasize communication among world powers
d) decide on the content and manner of producing news
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Passage 3

Anabolic steroids mimic the effects of the male sex hormone testosterone by promoting metabolism and
stimulating growth. These drugs are legally prescribed to promote muscle regeneration and prevent atrophy
from disuse after surgery. However, some athletes also purchase them illegally, using them to increase
muscle size and strength and improve endurance. When steroids are used illegally to enhance athletes’
performance, the doses needed are large enough to cause serious side effects. They increase blood
cholesterol levels, which may lead to atherosclerosis, heart disease, kidney failure, and stroke. They damage
the liver, making it more susceptible to cancer and other diseases, and suppress the immune system,
increasing the risk of infection and cancer. In men, steroids cause impotence, testicular atrophy, low sperm
count, infertility, and the development of female sex characteristics, such as breasts (gynecomastia). In
women, steroids disrupt ovulation and menstruation and produce male sex characteristics, such as breast
atrophy, enlargement of the clitoris, increased body hair, and deepening of the voice. In both sexes, steroids
increase the risk for baldness and, especially in men, cause mood swings, depression, and violence.

131 What is the main idea of this passage?

a) The effects of anabolic steroids on men and women are hardly different.
b) Anabolic steroids can be used to enhance athletic performance.

c) Large doses of anabolic steroids are needed for stimulating growth.

d) Illegal use of anabolic steroids will result in health problems.

132_ According to the text, gynecomastia typically developsin ......... :

a) females athletes

b) males consuming steroids illegally
c) male athletes

d) athletes with intensive activities

133_ The word they refersto ......... )

a) needed doses

b) athletes themselves
c) athletes’ performance
d) side effects

134_ Which one of the following is NOT indicated in the passage as a male characteristic resulting

from steroid consumption in women?
a) mood swings
b) enlargement of the clitoris
c) deepened voice
d) breast atrophy

135_ Which of the following statements is TRUE based on the passage?

a) Anabolic steroids are prescribed for treatment of baldness.

b) Due to testicular atrophy, men develop female characteristics.

¢) Hepatic cancer is one of the consequences of increased blood cholesterol.

d) Anabolic steroids minimize the effects of the male sex hormone testosterone.
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Passage 4

Many people in Germany believe that people with opioid use disorder are to blame for their addiction and do
not want to work closely with them or have them marry into their families. Stigma toward people who use
opioids is correlated with low support for allocating substance use treatment resources and high preference
for punitive policies. Furthermore, this stigma can impede seeking help by people with drug problems
because they may fear negative social, legal, and employment repercussions if they disclose their drug use.
Personal stories describing the experiences of people who use opioids can reduce stigma, as can messages
emphasizing the effectiveness of treatment and depicting examples of successful treatment and recovery.
Language used when discussing addiction also matters. Person-centered language (e.g., “person with a
substance use disorder” as opposed to “addict”) is destigmatizing. Several promising efforts are underway to
destigmatize opioid use disorder through such language changes. Reducing stigmatizing attitudes among law
enforcement, clinicians, emergency medical responders, and others who work closely with people who use
opioids should be a priority of public health policy makers.

136 The common reaction of German people to addicts is that they ......... :

a) accept the addicted people readily in the workforce
b) consider addicts responsible for their addiction
c) think the government and the laws are to be blamed
d) receive addicts into their lives with open arms

137- According to the text, which statement is correct about opioid users?

a) They are eager to seek help to lead a normal life.

b) Legal authorities highly support them toward a healthy lifestyle.
c) They have easy access to treatment resources.

d) There is a tendency in many people toward having them punished.

138_ Which option can best replace the word repercussion in line 5?

a) consequence
b) helplessness
¢) redundancy
d) successiveness

139_ According to the passage, ......... prevent(s) drug users from getting help from others.

a) abundance of treatment resources

b) the negative views towards opioid use

c) protective policies set by the government
d) social acceptance practiced by people

140- According to the text, all of the following can reduce the stigma toward people who use opioids,

EXCEPT ......... .
a) calling the person an addict
b) showcasing recovered drug users
c) developing effective health policies for drug users
d) trying to change the language used against an addict
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W Part two: Vocabulary

141

142

143~

144

1452

146~

147~

148

149

150~

Directions: Complete the following sentences by choosing the best answer.

Well-developed articles are best ......... prestigious journals that publish high quality research
reports regularly.

a) avoided from b) rejected by c) suited for d) degraded by
In writing an article, ......... happens before revision and editing of a manuscript.

a) composition b) publication c) complication d) submission
Students in medical fields are expected to ......... a lot of times to their studies.

a) devote b) evade C) negate d) emit
The technicians ......... a lot of energy to fix the machinery but didn’t succeed.

a) restored b) invaded c) exerted d) contaminated
The author sued the company for the ......... copyright on his work.

a) compliance with b) violation of c) consent with d) completion of

He started teaching in our department temporarily by signing a short-term ......... .

a) conflict b) context c) contract d) constitution
I was obliged to follow their ......... despite my own will.
a) subtractions b) constructions c) obstructions d) instructions

To make a piece of writing more tangible, abstract words should be changed to specific, .........
words.

a) concrete b) verbose c) obscure d) redundant
When writing a research report, the writer should double-check and ......... all numerical data to
avoid possible mistakes.

a) fabricate b) abandon C) scrutinize d) replicate
Every person who is listed as an author of a paper should ......... professional responsibility for
some portion of the article.

a) override b) assume c) forbid d) overlook
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151_ Efforts were underway to ......... information in an attempt to help enhance people’s knowledge.
a) conceal b) denote c) suspend d) dispense
152_ The country’s economy is steadily ......... under the present sanctions causing financial problems
for people.
a) shrinking b) flourishing c) booming d) expanding
153~ It is unethical to ......... patients’ confidential information to the public.
a) disguise b) conceal c) disclose d) bury
154_ The teacher asked each student to keep his/her oral report ......... enough to save time for
everybody to participate.
a) delightful b) extensive c) comprehensive d) concise
155 There are some diseases with the ......... of about two weeks, after which the signs and symptoms
begin to appear.
a) incubation b) complication C) emergency d) wvirulence
156_ One way to increase effective preventive practice is to ......... necessary health information to the
public.
a) suspect b) inhibit c) disseminate d) constrict

157- The health ministry did not approve the new vaccine as the results of the clinical trials were

a) invaluable b) satisfactory C) promising d) inconclusive
158_ Creativity is believed to be one significant ......... distinguishing man from animals.

a) admission b) attribute Cc) intention d) substitute
159_ To minimize the ......... of Covid-19, people should wear masks.

a) incidence b) detection c) extinction d) disappearance
160~ Students find it very difficult to ......... in small dormitory rooms with insufficient facilities.

a) confide b) reside c) subside d) dissolve
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